INSTRUCTION DE SERVICE

A remettre a la personne chargée de la conduite de la machire.

SERVICE INSTRUCTIONS
‘.* To be handed to the

operator in of the machine,

BETRIEBSANWEISUNG

Diese Anweisung ist fir die Maschine bedienende Person bestimmt,

Machine SCHAUBLIN type : /.7

Machine / Maschine Ne oL, RN
BL Ne o CAllEEL L.
Tension /Spannung Volts 1 v.vvnurnnss .

raBRIQUE DE MACHINES SCHAUBLIN S.A. BEVILARD/SUISSE

0 43 Printed in Switzerland




IN 102-32E-33E

W25 HEADSTOCK

WITH ANTIFRICTION BEARINGS
AND REDUCTION GEAR 5:1

o FOR 102 LATHE

TYPE 102-32 Open type with closing by hand-operated drawbar
TYPE 102-33 Closed type with closing by hand-operated drawbar
TYPE 102-32L Open type withAquick closing by hand-operated lever
TYPE 102-33L Closed type with quick closing by hand-operated lever

Liubrication by oil gun or oil mist,

Ranges of speeds: Normal, Special I and Special 11

CHARACTERISTICS
‘ Type 102-32/32L 102-33/33L
Thread on spindle nose M 47,6 x 3 mm
Cylindrical location on spindle nose @ 48 x 10 mm
Spindle bore @ 25 mm
Maximum through-bore in standard collet . @ 19 mm
Internal taper of spindle 150
Width of pulley steps 32 mm
Diameter of pulley steps 75/100/125 mm
Weight 24,55/28,20 kg 29,25/32,90 kg

FaBRIOQUE DE MACHINES SCHAUBLIN S.A. BEVtLARstmséE




IN 102-32)5-33K-2

MAINTIENANCE

A, Cleaning on receipt

Prior to despatch all external and internal parts are given a coat of special ant-
rust grease.

This grease has no lubricating property; its presence may cause serious seizure,
even several weeks after starting up. Clean the entire headstock with a chemically
neutral white rag (free of chlorine or acie) soaked in paraffin.

Avoid using alcohol, car petrol {which often contains alcohol), or any other organic
product that would dissolve the cellulose paint.

B, Lubrication of bearings

Use a good mineral oil with a viscoscity of approximately 2,SOE at 50°C. (See lub-
rication chart ING 57-1),

'he front and rear bearings are lubricated under pressure by means of a gun supp-

lied with the machine. The lubricant and the method of lubrication have an influence

on the friction and the temperature of the bearings. Any large accumulation of lub- .
ricant can produce overheating.

Oi} frequently, but sparingly (at the most once a day).

Never use grease! Any abundance of grease can brake the rolling elements to

such an extent that they will only skid on the tracks.

Note: Headstocks equipped with the oil-mist lubrication unit require no additional
lubrication.

C. ILLever-operated quick-closing mechanism

The pivot of the lever (102-34.020) carries a nipple K7 for injection of oil by gun.

Once a week inject one or two shots of o1l through this nipple. Lubricate also the
dogs (120VM-316). The bearing {(RIV 16011) is lubricaied either by oil mist or by
injecting oil through the nipple K7 by means of the gun. In the latter casc lubricate
once a day during normal operation.

PD. Oil bath of reductltion gear ‘

Use the Same oil as for the bearings, that is a mineral oil with a viscosity of apro—
ximately 2,5 °r at 50°C.

Remove the plug (102-26,031) pour oil out to half of the level gauge.

Once a year, drain oil, rinse the box with peirol and pour fresh oil.

FABRIQUE DE macHINES SCHAUBLIN S.A. BEVILARD/SUISSE :




IN 102-32E-33E-3

ADJUSTMENT OF SPINDLIZ BEARINGS

The play in the two spindle bearings is adjusted very carefully at the time of assem-~
blv of each headstock. No subsequent adjustment is necessary until after a relative
long period of running.

Only an experienced person should be allowed to make the following adjusiments,

which require the grealest care:

Taking up radial play in front bearing

1. Determine the exact amount of radial play with a comparator reading to within
1/1000 mm. To obtain perfect running conditions, the radial play muszt be:

0,002 to 0,003 mm for the NORMAU range of speeds up to 3000 rpm.
0,003 to 0,004 mm for the SPECIAL I range of speeds up to 4500 rpm.
0,004 to 0,005 mm for the SPECJIAL 1l range of speeds up to 6000 rpm.

2. Remove the spindle (102-32.002) by following the instructions given below:

a) Remove the guick-closing mechanism, which is fixed to the headstock frame
by two screws (CCM M8x30) and held axially by the split ring (102-30.622).

b) Unscrew the three screws of the cover (102-23,005).

c) Remove the key (4x4x18).

d) Remove the cover (102-23,006), which is held by four screws (CCM M6x15).

e) Unscrew the screw (2015-6). '

) Unlock the screw of the nut {102-23,008) and unscrew the nut, A

g) Carefully drive out the spindle with a lead or [ibre hammer, striking the
rear end.

3. Unlock the screw of the nut {102-23,009) and screw the nut down according to
the amount of play to be taken up.

The slight taper on the inner race of the bearing (NN 3009-K-SP) resists any
normal advance of the nut (102-23.009). Strike the nut concentrically by means
of a tube placed on the spindle in order to displace the inner race of the bearing
slightly on the taper of the spindle (102-32.002). Then retighten the nut.

By repeating this operation a certain number of times it is possible to turn the
nut through the desired angle. Carefully check the advance of the nut (102-23,
009), as it is difficult to move the inner race of the bearing back once il has
been pushed too far forward on the taper.

Advance of nut {(102-23.009) = play to be taken up in mm x 14
Pitch of nut  (102-23.009) = 1 mm

EXAMPLF: Let us assume that-g§Q01 mm radial play is to be taken up.

Advance of nut : 0,01 x 14 = 0,14 mm o o
equilivent to a rotation of : 0,14 x 360 = 50" 24°

corresponding to a length of: L0 xmx 20,4 = 26,4 mm

measured on the 60 mm outside diameter of the nut.

FABRIQUE DE MACHINES SCHAUBLIN S.A. BEVILARD/SUISSE

R




IN 102-32E-33E-4

o5

Tighten the nut (102-23.009) against the inrer race of the bearing and lock it
with the screw (D M6 x 6).

Refit the spindle (102-32.002) and check the radial play.
Refit the quick-closing mechanism,

Note: The play must be checked with the bearings (7208) in position and with
the bearing (NN 3009-K-SP) perfectly clean and lightly oiled.

Taking up end play in rear bearing

1.

Determine the amount of end play with the aid of a comparator reading to within
1/1000 mm,

To obtain perfect running conditions, the end play in the rear bearing must be:

0,002 to 0,003 mm for the NORMAJ. range of speeds,
0,003 to 0,004 mm for the SPECIAL I and SPECIAIL IT ranges of speeds,

Remove the quick-closing mechanism, which is fixed to the headstock frame
by two screws (CCM M8x30).

Remove the key (4x4x18).
Remove the cover (102-23.006), which is held by four screws (CCM M6x15).

Remachine that face of the cover (102-23.006) marked * according to the amount
of play to be taken up, This work must be done very carefully.

Note: The face of the cover marked * must be perfectly parallel with the suppor-
ling face on the bearing.

Refit the cover (102-23,006) and check the end play in the spindle.

This check must be made with the bearings (7208) perfectly clean and lightly
oiled,

SPINDLE LOCKING DEVICE

The plunger (102-21.008) can be inserted into any of the holes in the side of the pul-
ley (102-23.003) by means of the knurled knob (102-22.022 in the case of the closed
headstock or 102-21.022 in the case of the open headstock), thus allowing the spindle
to be locked in any position,

FABRIQUE DE MACHINES SCHAUBLIN S.A. BEVILARD/SUISSE




IN 102-32E-33E-5

USE OF THE HOLJX DIVISIONS

The pulley (102-26.003) is fixed to the sleeve (102-26.019) by the screw (2015-6);
the screw (102-26.014) is not fastened. When using the divisions 12, 48, 60 and
100 on the pulley shoulder, and in order to eliminate the play in the reduction gear
toothing, lock the pulley by means of the screw (102~26.014).

Unfasten the screw (102-26.014) before reverting to normal running conditions
with or without reduction gear.

REDUCTION GEAR

The change-over from direct drive to reductlion gear drive is controlled by a lever,
Never engage or disengage the reduction gear while the spindle is running. The re-
duction ratio is 4,95 : 1. ' '

In order to facilitate the lubrication of the sleeve (102-26,019) and ball bearing
(6008-615), periodically engage gears even if the reduction gear is not used for
the work being carried out, '

FaBRIOGUE DE MACHINES SCHAUBLIN S.A. BEVILARD/SUISSE




[ 1IN 102-23/24.000/ U

102-21.044
162 - 20.00t
Vis CCM
M6 x 20
102 - 20.050

102-22.022 (Poupée fermee)

102- 21.022 { Poupea ouverte)

102 - 21.608

VisCa2 M4,5x 8

Goup. cyl. 3x14

102- 22 .002

102 - 21.004
102 - 21.025

—

2) VisCM4x16
102- 22.018

2)Vis DCMC MBx12

102 - 24.001 ( Poupée fermaze )

102 - 23.001 ( Poupée ouverta}

Vue de A




IN 102-32-33

———————————g
A N o
*‘i') O(g "]'(o%\‘ “ 0)1_\? Q)‘-\‘: (\
PR\ (5}‘\ AV K c)\ N S Ao @ \*:\ Q\x\ + éﬁ‘ Do
L@ FFE DY S of e ST §
\ . ¥ / / / 102- 21.038
I;__? / r / 102 -21.035
A= B [ o
. it 0 A 102- 21.036
\\ l 17 ' f S ~TH 3 102-23.007
4\ i: 23
Jé%f' ?g%/ ur'y/ i . Rit N K-SP
?‘7/"” zlwﬂ/p i‘i' {/ I/ ”,‘ — — R N 3008 )
. & l g \‘2&..“\ LY& 'R"\‘-&\““ \‘“4\“\\\\\\\\
/ /' S
e i, W PR
L4 54 S /
o g | E7 7;;; 5
2 4 A 9 ]
. ”//// I;' |
7 L f 'Ill / A3 \>
?"ff X / TADE A
f e S0 I T
4’ f .
f / \ 102 - 25 001
/ / | \ \ 102 - 30.004
J I
/ / / / / \ 102 - 25 050
R T S SR R =Y NN
S %QQ ,{06" '@Q \,‘? <o® A<o “C&'\%Q ‘}S'\* QQ;5 ‘}\%* ,-S’LQ (\c,)'\' ,{')Q Vis CCM Mby 20
. + . S . )\" s
FP &g S g &
KY A\ \qu Q



Vis O M5x12

EcrouM5 O,Sd\\

102- 27010 ~.
102-27009>\ 2

102-27008

102-26020—____|

102-26025
VisCaM8xb

R

.

SRR

>
D2,

> ‘\\\‘
{(CH

5 b\
Ll

IS
N

N
2
NN

X

N

S
&

TAV NN

s

G TTT i )

Coupe X - X

/

102 -~ 27.005 { Poupée fermée )
102 -26.032 ( Poupde ouverte)
Poign.sph. C 220

Bras 8x70

Vis CCM M6« 15
102-26 028
Bille & 6
Rivets "Parker”
P 410

102 - 26.022
102 - 26.024
D 056 - 350
Niv. d'huile 24

102- 22022 (Poupée fermée)

102- 22.002
102- 22.005
VisC M4 x 16

102 - 27.001 ( Poupée fermée )

Vue de A

102 - 26.001 (Poupée ouverte)

E\OZ?IM? (Poupée ouverte)
L )

102 -21.008
102 - 21.004
102 - 21.025
102 - 21.005



IN 102-30.600E -1

LEVER~-OPERATED QUICK-CLOSING MECHANISM
for W25 neadstocks

MAINTENANCE

A. Cleaning on receipt

The anti-rust grease used to protect the quick-closing mechanism in transit
has no lubricating property and must be completely removed.,
(See also instructions for headstocks 102-30-31 or 102-32-33).

B. Lubrication

The pivot of the lever (102-34,020) carries a nipple K7 for injection of oil
by means of a gun.

Once a week inject a few shots of oil through this nipple and lightly lubricate
the dogs (120VM=316). The ball bearing (RIV 16011) is lubricated either by
oil mist or by injecting oil through a nipple K7. In the latter case lubricate
once a day during normal operation.

OPERATION

To close the collet, pull the lever (102-36,004) towards the headstock.
To open it, push lever {102-36.004) to the left.

FITTING THE QUICK-CLOSING MECHANISM

A headstock with drawbar-operated closing can easily be converted into one
with lever-operated quick closing by any skilled person.

1. Remove the handwheel-operated drawbar (102-32,005). This cannot be used
for quick closing.

2. Place the key (4x4x18) in the seating provided in the headstock spindle.

3. Fit the quick-closing mechanism by inserting the drawbar into the spindle.
See that the key (4x4x18) enters the slot in the sleeve (102-30.624).

4, Place the support (102-21,623) against the frame of the headstock and lightly
tighten the two screws (CCM M8x30),

5. Lock the sleeve (102-21,624) by tightening the ring (102-21.628) with the
secrew (CCM M5x15),

6. Adjust the perpendicularity of the cage (102-21.664) in accordance with the
instructions given under the heading "ADJUSTMENTS", item A,

7. On completion of this adjustment lock the two screws (CCM M&x30).
8. Lubricate the entire mechanism (see "MAINTENANCE").

FABRIQUE DE MACHINES SCHAUBLIN S.A. BEVILARD/SUISSE




IN 102-30. 600K ~2

ADJUSTMENTS

AL

Adjusting the ball-bearing cage

Whenever refitting the quick-closing mechanism, it is necessary to adjust the
perpendicularty of the cage (102-21.664). To do this, run the machine at a low
speed and adjust the two eccentric screws of the lever (102-36,004) until the
cage remains motinoless in the vertical plane.

NOTE! Any buckle in the cage, however slight, can cause very rapid wear

in the ball bearing {RIV 16011).

B. Adjusting the closing force

1. Pull the lever (102-36.004) towards the headstock.
2. Fit the collet in the spindle with the component to be machined.
3. Close the collet by screwing-in the adjusting sleeve (120VM-314).

4. Push the lever to the left and adjust the final closint force by means of the
sleeve (120VM-314).

The adjusting sleeve is automatically locked in all its positions by two spring-
loaded pistons (102VM-264),

REPLACING THE CLOSING DOGS

Whenever it is necessary to replace the closing dogs (120VM=-31 6), proceed as follows:

i.
2.

Remove the drawbar completely, together with the adjusting sleeve (120VM-314).

Release the Seeger circlip (45a) and withdraw the bush (102VM-261) about 10 mm
in order to be able to free the two dogs from the slots in the bush,

. Fit the new closing dogs.
. Refit bush and secure with Seeger circlip (45a).

., Refit drawbar,

FaBrIQUE DE MACHINES SCHAUBLIN S.A. BEvILARD/SUISSE




MACHINES
SUISSE

ABRIQUE DE
BEVILARD

= f
= 2735

./’02"7' -

~ © b & N A S w2
T8 888 858
sEsFrES FAES
~ - 3
S & 858 8 ¢ = 5 ¢
102-21.614
102-21.601 ;
5
102-21-604 B - -
Seeger 40a /
D057-305
102 VM -264 1
102- 21,627 | |
| f
102-21.628 7* |
|'
!
{
w
\r
<
&
N
Huileur K7 i
102-34 020 i
Vis |
DCMBMSXS\ '
‘:i Vis Ca2 M4,5
: 102-22.0
102 - 21.648 2) Vis C M4x
Loue £7° 87~ 8005
Huilewr 67° M6 102- 22.0
67- 8015
2)Vis DCMC M6 »
2) VisC M4 x 20.

102-21.623
67- 8005
102- 22.C

Brovillard d‘huile

Pompe a main
Handpumpe Delnebet
Oil mist

Qil gun




A )
> ™ —
SYleg 8858
T” N © O w W (7a}
s 2888858 ¢
S 88K g g o ?
& oSS w &
2)120VM - 316 = 0 e 8 v ;\l ;\- S
| / i
120VM - 325 Lo / /
102- 30610 /
rd
102- 30.604 : /
2) DO57-305 ; e
o R T . - e
120 VM- 314 A e
Bague -
Seeger 45a ; 5 =

102-30.627 —

2) 102 VM -264 —
102 - 30.626
RIt 16011

Huileur K7,
102 - 34 .020
Vis

DCMB M6x 8,

102- 21623

Huileur K2
67 - 8005 —

Pompe a main
Handpumpe

0il gun

102-30.622

Clav. pl. 4x4x18

. 102- 30,624
_ Vis CCM M5x15

"~ 2)Vis CCM

/ M8x30/20

1102-3

6.004
Poignee
46-65-30

102-21.649

" _2)67-8005

o

67 -8015

Brouillard d'huile

Oelnebel
Oil mist



HY IN 102-45.000 [ E

SCHALIBLIN SA

SCREW-OPERATED CARRIAGE 102-45.000

Specification

Longitudinal stroke 90 mm (31")
Transverse stroke 100 mm (4")
Height of centre above carriage 20 mm (13/16")

Swing over carriage :

- without rear toolholder 120 mm (43")

- with rear toolholder 60 mm (2 3/8")
Adjustable praduated drums, reading 1/1000" (1/100 mm)
Dimensions of tools 10x12 mm (13/32x15/32")
Net weight 10.700 kg (23.59 lbs)

Lubrication of slideways, nuts and feed screws

The carriage has two nipples through which o0i}l can be injected by means of the
oil gun supplied with the lathe. An advantage of this system of lubrication is that
the oil is positively circulated under pressure and, at the same time, cleans the
slideways and nuts. 4-5 shots of oil gun iwice a week are sufficient. -

Use a good mineral oil with a viscosity of 4°E at 50°C.

Lubrication of feed screw bearing

This patentied bearing contains a ball bearing provided with adeguate consistent
grease to last for about 5 years. To renew the filling, proceed as follows, using
a good ball bearing grease :

1. Knock out the conical pin (102-45.513).
. Pull back the handle (102~45.512) and the graduated drum (102-45.506).

. Loosen lock screw of the nut (102-45.502) and undo the latter,

S

. After-thorough cleaning with petrol, the fresh grease can be pressed between
the balls of bearing (102-45.507) and into the hollow space marked (¥).

Adjustments

The adjustment of the following members, all hough very simple to perform,
should only entrusted to a competent person.

Adjustment of feed screw bearing

The play of the ball bearing can be taken up without any dismantling.




FASRIQUE ,
13 sevaan Ses HN 102-45.000 | E

1. Loosen lock-screw of the nut (102-45.502).

2. Tighten the nut (102-45.502) on the sleeve (102-45,503) in accordance with
the amount of play to be taken up.

3. Firmly tighten lock-screw of the nut (102-45.502) again.

The index, engraved on the nut (102-45.502), can be replaced in a correct
position, by turning the sleeve (102-45.503) locked by a screw.

Taking up play in the slideways

The ways of the cross and longitudinal slides are provided with taper sirips to
take up the play caused by wear and tear. Adjustment is effected by means of the
screw (11A-504).

Adjustment of resetting device

The tiltable longitudinal slide is quickly returned to zero position by means of a
patented, retractable stop, the position of which is adjusted as follows :

1. Slightly loosen the screw (DCMB M5x6).
2. Slacken the 2 nuts (102-45.003).
3. Bring the longitudinal slide into contact with the piston (102-45,008).

4. Turn the knurled screw (102-45.007) until the longitudinal slide is perfectly
parallel with the bed.

5. When Lhe best result is occured, firmly retighten the screw (DCMB M5x6)
and the nuts (102-45.003).




102 - 46.010

102- 45020 102 -45.011
Huil. K7\ 102 - 45.003
: 7/ 102-

102- 45.029 S 7 102 - 45010

102

g
vty Z

\;: k \\_\\\\\\\:\3

| miiae
N x// _,__J.__}_ . _1__.;__.%_/7] Fa Execution 1
Nl a1 A | Vi = seulement part
e KA du chat

LI< T 3‘ [ o 4

| PS5, | MLL <l

AR AR C-p-

Qoo W
N Re) a s ’ -
Qg)\%' S Q@ %

G.cyl.C5¥%x5
y T '| D M5x 8

GCYl C3X5\‘4 =t
O nH |
[ e -
TR
) ———— *Lr:—;“-s“;:—:-s——"'————— == i

Vis DM8x10/~@— R = ,____ETE?E—ELi
.\ i

Lt. 41x3
Vis 0 M5x 10

102-45.027
Vis EM5x8 : Vis CCM M5x 30
102-45.026 102 - 45.006




Q
© .0
,\;\ W G? S D G &
QY (& OV Vv W o7
\ A ./\ O\Q (L ‘.LI q: J\)
/ O LY WO ,\Q’L 102-45.512
/ \ 102-45.514

102-45002 — IR0

102- 45505

102-45.001 —

102-45.513

gcution 102 VM

lement partie supérieurs
du chariot

_, _102VM 918
) = ;é___\_.f— Vis CCMMbBx 15
“} —102VM 918

A\

1A 504

e}
&
A
KRR
Chp” B W
. % ’
\\;\Q"\, N ,\g’b

102 -45 000




(N 102-45 151F

SPECTAL TGP SLIDE WITH STROKE 150 MM (6 IN.) FOR
SCREW-OPERATED CARRIAGE 102-45

7 gz zzrzzzzz N Y
’_(é,{{ R A — ReTR _f___—_‘}}; B [ W
III '\\.. i 1

051 )52

D—

d Stk sl i L
———— A
S SR o 1 .

+ — — ]
I S— /

J > mﬂj— /

e e gt

The «zeros of the circular graduation on hottom slide 5051 has been intentionnaly dis-
placed from 10°.

%hen adjusting this swivel slide on the base of the standard screw-operated carriage
102-45. it is necessary to proceed with the alignment of the upper slide 5052 with help
of an arbor and & dia) indicator, and to engrave, on the base, opposite the «zero» of the
slide, a reference mark appropriated to this new slide. Any confusion in setling either
the standard ar the anecial slide will then be avoided.

Every time, when changing the slide, the
resetting device (knurled knob «as) must be
adapted. For this purpose 2o0d after having
aligned the new slide, unscrew lock-screw
«b» and move knurled knob «a» with iis

eccentric to re-establish the correct
contact with the stop,

Prnted in Swiizeris-- 23.4.55 MD/MCh




IN 102-65.000E

TAILSTOCK 102-65.000

The spindle 102-65,030 has a N° 2 M»orse taper and contains an extractor
102-65.063 secured radially by the screw 102-65.063. The extractor enables
us to remove either the N° 2 Morse tapers or the reduction bushes easily.

N° 2 Morse taper (Fig. 1)

To use tools with a N° 2 Morse taper, remove the hexagon socket-head
‘ screw 102-65.062 from the extractor 102-65.063. This exposes the slot
in the extractor and enables tools with or without a tenon to be used.

To remove the tool, withdraw the spindle 102-65.030 until some resistance
is felt (the extractor is then resting against the tool). When the resistance
is overcome, the tool is released from the spindle.

Reduction bush (Fig. 2)

To use tools requiring a reduction bush (for example Schaublin 2° taper),
refit the hexagon socket-head screw 102-65.062 in the extractor.

Only the reduction bush has to be driven permanently into the spindle.
The tool itself is fitted with a slight push.

In this case the tool is extracted with the aid of the hexagon socket-head
screw 102-65.062 witilout releasing the reduction bush,

. By extending the stroke of the spindle, the extractor itself will push
against the reduction bush and release it,

raBRIQUE DE MACHINES SCHAUBLIN S.A. BEVILARD/SUISSE




IN 102-65.000

. ANASAANNRRRRES
ig. PTTIITITIT T PTT R PPT T P 7
TV T L7 7 17 T 777

IR SN

|

102-65.030 102-65.063 102-65.050

Fig. 2

ANNNNRRRNN AN AN
94 e L A T

O ; 2 [_’-_?_J%] 7 ZZ77 77
It N SURRNA NN

102 -65.062 102-65.053

rFABRIQUE DE MACHINES SCHAUBLIN S.A. BEVILARD/SUISSE




T
[Hontage ax okt ﬁ/om‘;fmﬂ

LT W Py x\/ \
£ %cao\f'rf/ 6 Mj: 85.% \f;:;*f"’”\ -5?07>;{ G5 aga \ea ozo ﬁofo bswd\) R Si’;fofg ﬁj'j" i{;\ Gﬁesw;s ¢5 _@_;g
\ b / 'a. ! - " \ i 0,8x -V&/ K )

: 7
{65??3)—
/m"" /‘f’//?

_\\\._' 1\ e .“‘\\ ‘ > . -4t 3 -‘ . 5 , ‘ 7 =
L \ o], s T : - 1 1 - \ -‘.-’,' s y ;060
S i 3 - sl . ". - =

55120) ' A B2 ;

7 o | g ; = |~ "4236’5
%z R e '\;-\ =4 SR = 3 T LT S s P s com
z - N *si?‘» S R _}‘--}Q\ TN S, S ARECRRRE T N T .
e _/_' / : = o ———— PR SN ¢ pA L T "J.é \ﬁﬁ'f?‘é
. " © * /_‘/': / ol \ b,

fawﬁ% ga-nee

1rirfd) \22 n

_.\. ;' 2 %o 5)
%
¥ ‘\ = @

fEerou

e )
. Cur_ac,tér;ksﬁquas CUsE 80 mm
i ' _ ' Cone Morse-2

\‘ ‘ oo | _.I'.
ﬂ ; T
- i E'...... T
el T R 1. . OQQQC JO Jexziie
\ F:'mnl pouri - ‘ | Piéces sembhh!es i e 1 _H_'
0ut!!lage e FFERY ) o Bk
TG o | M- L Y _ ;. g
: Mpdp}i’c?y&ns 9‘9?; 956'5 108 "’5:"-"" -fg/fg 11929440 ¢ Remplacé P" : F
= z A8 Rs s
] I- V’o,rr ;gf gfgff’ gg z:: gg:g.—g Q-F‘?;ggo Vmg;ﬁf Remplaco 792 E5900f€b fﬁh
0 R . / ' Echelle | L .-...méf ’_gf_”ffj 5'-_____
E \.l : : = [ 4 : =k, Colf}{re poupee \G 1-3’.-5 . _;n; tr')!e Lk __'r !.
= } o I o= : 44 . PR R VT ol — ol Pk | b '4...-‘"
i [ K"“ ‘.5 . { i A i . .‘_I hl:i:‘-\. 4] . . ’ Mﬁd(. il 1 i [ .
E _f i -
e |7 | SR T - . ScHpuBLIN A 15? @5@@0
3 ; : - x : j . = Lt - i . . — ] ABENVILARD (SUEEER '_' T
T i + m— e i —— 3 = ”




IN 102-10.000E

FIXING BED 102 ONTO BENCH

Drill 3 fixation holes and saw one opening for the belt as shown on the

sketches.
o ey == | NG
_ ?_ |« B{
Bed for overhead drive '. = p——ele=Enama s - —
102-10. 000 'Ef !
. — ! U/
Bed for underneath drive wr ! o.l al j\o
102-12,000 e N S
and 102-13,000 A DU, . = - “‘ !
0\‘9\&_”3{, 25 I ¥ E
5. ne |15 600 i

To eliminate a distortion of the bed which
may be caused by an uneven bench, the
bed is set on 3 special washers

Ay 102-10.003. 102-10.002

Two steel plates 102-10.,002 are supplied
with the bed. These are mounted on the
bench to prevent the washers from
penetrating into the wood.

102 -10.003

After fitting make sure that a clearance
between the foot of the bed and steel
plate is. maintained.

FABRIQUE DE MACHINES SCHAUBLIN S.A. BEVILARD/SUISSE




SCHMIER-ARWEISUNG FUR WERKZEUGMACHER.NACHDREH- UND REVOLVERDREHBAMKE " SCHAUBLIN® 65 - 70 - 102 - 10
TABLEAY DE LUBRIFICATION POUR TOURS: QUTILLEURS - DE REPRISE . REVOLYER “SCHAUBLIN® &5 - 70 - 102 - 120
hl LUBRICATING CHART FOR: TOOLMAKER'S / SECOND-OPERATION / TURRET LATHES *SCHAUBLIN® &5 . 70-102- 120
u Magchinenteile At det Schmisrung Schaver od. Koo- I .
x Oreancs de 1 muchine ode de uirianion | tollicacer/ | o ASEOL } castroL | (Esso) (Sgmm) | wovu [ —
Machioe pars Tyt of lubrication ragmine ./ 1 wre,
= - Frequency
= " S —
p Spladelaticke et Gletlagem Kamne vaglich .[ I
: Poupdes A pallars Narer Fawric e Gt Aral 16-80Y BP Roergol el B s ; b | TITE . | :
Headstocks s plise hessags : iy dutly 140 Gl liTU HP 10 yrpin eressa 43 | Sporialol K | Harmoay 44 i1 Light | SAF Bive A | Wines RITY | Magoes 4
m Spindels asi Lagels & Hollealagmen el | Handpresae Galirk 1T 1 B | T CEE—— g T — =
Paupdes b ienleminls Huite | Pompe & main | quotsdien n . - * - - - - . . » »
n Hendstorios muk frietios besling oil Gun daily
m Spa deletdeke mit Ko & Rollenlagem | el Drelnebel viglich I ] [ 74 = T
Peupfer ipeeiater graader vires remlem. | Muile | Broaubard quatidien i = & - | - F L L] . ] =
Tpeiial high apeed beadatocks e
i Irictlan Baarangs oy Hiwi daity
Fedaziesgrenebe der Spindelmiinbr el | Pad T sabatich . 4] T ~— —_— 1— | - } |
b Bddarigur & engrenapra dey posp Huite | Bain annuel o . L} = L - = - - . = .
n Hendstock teduction geara Cul J_ Harh yearly
Sebne ]| el 1) bl de7 Spa el Sandpr, Kagpe | wieheatlich T i + — — - —
I [Huade & LessriTirang) o perllf rereage | Buile | Femes b mala e ire - = 5 - 5 . B " s & . P
s rapide faxe levsi chienr di bleplvore du B cite
Leviar) /  sswcloriag siisrhmest {lever
= axle, fEws and phad-a ol lewer ) ol San f Can
m indelo & Kreuzsehlictenlibrunges el Eagdaqgei | —r T 5 =
_m Fip de siginge & yuidager der coulisseans Hade | Fompe o muin | dsbdosiaine ¥ | i - . - : . . "
i chiioan  f Mipndeter screwy and cae
Angr alide g il ET3 Errly
Ach aal el Tana [ ] 1 = . — — = = — - -4 . —
Paligrn d¢ Fare de ba pddaie du dbems il [ e mel ¥ 2 £ N, =
Shalt beadlagp ol Sl ahibai pedal =t Lhly
n Achslnger dee Hoionch.wnkp -_ 1) Enndean e “mematlich [ ¥ 1 - e - =1 -3 [— . o U T’ = T - ; "
Paleers s pappet piostass ds el e Masle | Fompe & mam i wel & = i
: W | e amaitly
Vargelcge Wl B doa T T __ T 1 = 1 N T . — 1 N == .
Reaver d v Mmte | Fomps & main e 3
Bawr oo mm s shalt Ol Cun
el 1T il S T S — —L ~ i il [ — | b
C el | Famdgrgrse beatlich I 7 x - = T -
Vaie | Frmpe o man | debdomadarre . " =
L 1] meekly L
m Tappluny & Barmar (Zub.) dus Muims Fr;la-u{"-l “wochenslich B = ) 1 . = . 3 - ) — o T - | —
Embrayaps ol frevs du mobew (Aec. ) Posipr & suin | kebdomadoure
' Motar tlutch sod bake {Accd 117} Gun weekly
- — - | By = L PR SRS S e — —
— Beduziergeuriei= (Tubl la Sacial T | iahel fwachencl. _ = B . . " ¥ " "
fdductenr de pirerse dans be vonls {Aee.j Hule anauelfhebdomad 2 =
Spaed reducilin it lo bums fAie.] il yenaly fweekly
||l,.el|||L-¢-f.Zul;-).rl. T el TEhihieh r ) N 1 = = . . 3 - - . -
bssas panr da morchs dans b merds S04} Hugls LAl
g il n base (Ace | e rearly
. (2] Gel T = tekenilich T 1 - = - - - — - - -
erse dans le vocle (Acc.] Baile herdnmadaie " ]
s @bt apend wniz in beae [Agc ] werkhy
" Visgelegelnger des stul.tg.Gererebe (Zub) | Gel | Bal TERTTcE = = 1 = — 1 T - = — = —
Ve it 42 vitegae, palier du renvol fAee} Muile | Baw kel
m Camirashal bearing af stephess vhrinbles
wpeed mii(Acc) | HD Huth
m pearate (Zub.) it Gle) [ Kana® == — 3 - —— — - — — +—- o
q H : Burere
-— sl a b tan |
[ Scbinsnprsien finky ms Bugellagere | i | Amdrre il ) P [ = AT R T | . . . P ~]
s mentg [Ane, ) Sraile | Preps b myin
m |-\cc.* on Gun ].
el | Meodpres:s wichentisch —r = - 1 —— — - e
[ = Vaile | Fumoe b main | hebdamadarre = ! *
| rhmaai FAce. ol o werkly
b i L = Lo 1 1 = — 0 SIS | - | = | - | |
m Fan aile b pati e ARAL =
sul Gmreg loug tew I me ehron AL enieong [BP Busrearel oo ai g | Aad il l Foro Mobilux Riwsalp
= ! Eicary all 5 peas RT3 el BE = [ o ke o GreaseMo | | GranpiNoy | B ASHSL o ety g | LB Taruae
—_— [ — | e B T z 1 3 : — . - - L - ] = 5 —— - | -
m Motews dleviing W Laen
Firrmir measrs Gieerd Pacbrd |
U'.I- Prgnaajiek (Zub) Frit | Packeng = . s [ . : 5 G & . . - =
i Iirgat s Larmisgage sy e[
m Greaza Macked yeudly
—— | . » 4 L 4 1R i E— - — —
L " : 5 x
anedianiger Yorgeicge Laudter ek . o i o 5 & " - - =
Hpmens yadé pendant - n(b.l-:-m{ouc &
Taden I dountershak [Acc) = =realy | ﬂ






